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QUESTION 1

Programmers working on a software development project frequently need to save their development library (LIBX) at the
prior release level of the operating system.

The administrator needs to change the default value of the SAVLIB command parameter to accommodate the
programmers" prior release save requirement.

The default value before the change was: SAVLIB LIB(LIBX) TGTRLS(*CURRENT) The default value after the change
will be: SAVLIB LIB(LIBX) TGTRLS(*PRV)

What should the administrator do to facilitate the change?

A. Adjust the system value QFRCCVNRST (Force conversion on restore) to *PRV.

B. Use the Change Command Default (CHGCMDDFT) command to change the TGTRLS parameter value to *PRV.
C. Use the Save Restore Configuration (SAVRSTCFG) command to change the TGTRLS parameter value to *PRV.

D. Use the command WRKREGINF to modify the exit point program QIBM_SAV_SECURITY and change the TGTRLS
parameter value to *PRV.

Correct Answer: B

QUESTION 2

An administrator needs to upgrade their Flexible Service Processor\\'s (FSP) firmware for an HMC managed Power 720.
They are currently running AL730_085. The latest corrective service on Fix Central is AL730_1 12_092.

Which statement is correct regarding the installation of this corrective service package?
A. Since this is an HMC managed FSP, the installation of the corrective service will be concurrent.

B. Since the FSP will remain at the same 730 code stream level the installation of the corrective service will be
concurrent.

C. Since the 092 is greater than the currently running 085 fix pack level, the installation of the corrective service will be
disruptive.

D. Since the 112 is greater than the currently running 085 fix pack level, the installation of the corrective service will be
disruptive.

Correct Answer: C

QUESTION 3

An administrator notices the time stamp of service processor-related messages are significantly different from other time
stamps from events known to have occurred at the same time.

The system is HMC managed.
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The HMC time zone shows the correct local time

IBM i shows the correct local time.

Where can the service processor time setting be verified?

A. In the QUTCOFFSET system value

B. In the ASMI date and time settings

C. In the Universal Time setting in System Service Tools

D. In the date and time setting for the managed system on the HMC

Correct Answer: B

QUESTION 4

What is saved with the SAVSYSINF command?

A. All security\\' data, PTF status, and configuration objects

B. A subset of the SAVSYS command including PTFs applied since the last SAVSYS

C. Network attributes, IP configuration, hosts table, routes, and line descriptions

D. System values, network attributes, IPL attributes, job schedule entries, and cleanup settings

Correct Answer: B

QUESTION 5

An administrator has prepared an update package containing the prescribed groups and HIPER PTF5. When testing the

package, a message is received stating some of the PTEs cannot be applied because others are missing.
What is the most efficient approach to accomplish a successful test?

A. Apply the latest technology refresh.

B. Apply the latest cumulative fix package.

C. Inspect the job log for the missing PTFs.

D. Read the PSP for cumulative updates for missing PTFs.

Correct Answer: C
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